A\ 2 X B & BE w5
</ JOTA BEARING CO., LTD.

= Ol ~ i A

Spherical Plain Bearings



<oT3

() X K Wb K A PR
v/ JOTA BEARING CO., LTD.

05 ¢

GE #Y B,

GEW GE2RSHE
e FE~FE(mm) BERTIRWE i
Bearings Numper | PYE | SVE | Pomte| Stite T | BYE C[WAE Co Weight
d D B B KN KN arf)
GE4E 4 | 12 5 3 6 | 05 2 10 33
GES5E 5 | 14 6 4 7 | 05 3.4 17 3.8
GEGE 6 | 14 6 4 8 | 05 3.4 17 42
GESE 8 | 16 8 5 10 | 05 55 27 75
GE10E 10 | 19 9 6 13 | 05 8.1 40 1
GE12E 12 | 22 10 7 15 | 05 10 54 17
GE15E | GE15E-2RS 15 | 26 12 9 18 | 05 17 85 32
GE17ES | GE17E-2RS 17 | 30 14 10 20 | 05 21 106 49
GE20ES | GE20ES-2RS | 20 | 35 16 12 24 | 05 30 146 65
GE25ES | GE25ES-2RS | 25 | 42 | 20 16 29 | 05 48 240 115
GE30ES | GE30ES-2RS | 30 | 47 | 22 18 34 | 05 62 310 160
GE35ES | GE35ES-2RS | 35 | 55 | 25 20 39 | 1 80 400 258
GE40ES | GE40ES2RS | 40 | 62 | 28 22 45 | 1 100 500 315
GE45ES | GE45ES-2RS | 45 | 68 | 32 25 50 | 1 127 640 413
GE50ES | GE50ES2RS | 50 | 75 | 35 28 55 | 1 156 780 560
GEG6OES | GEGOES2RS | 60 | 90 | 44 36 66 | 15 245 1220 | 1100
GE70ES | GETOES-2RS | 70 | 105 | 49 40 77 | 15 315 1560 | 1540
GESOES | GESOES-2RS | 80 | 120 | 55 45 88 | 15 400 2000 | 2290
GE90ES | GE90ES2RS | 90 | 130 | 60 50 98 | 2 490 2450 | 2840
GE100ES | GE100ES-2RS| 100 | 150 | 70 55 | 109 | 2 610 3050 | 4430
GE110ES | GE110ES-2RS | 110 | 160 | 70 55 | 120 | 2 655 3250 | 4940
GE120ES | GE120ES-2RS| 120 | 180 | 85 70 | 130 | 2 950 4750 | 8120
GE140ES | GE140ES-2RS| 140 | 210 | 90 70 | 150 | 3 1080 5400 | 11300
GE160ES | GE160ES2RS | 160 | 230 | 105 8o | 170 | 3 1370 6800 | 14400
GE180ES | GE180ES2RS| 180 | 260 | 105 80 | 192 | 3 1530 7650 | 18900
GE200ES | GE200ES2RS| 200 | 290 | 130 | 100 | 212 | 3 2120 10600 | 28100
GE220ES | GE220ES2RS| 220 | 320 | 135 | 100 | 238 | 35 | 2320 11600 | 36100
GE240ES | GE240ES2RS| 240 | 340 | 140 | 100 | 265 | 35 | 2550 12700 | 40400
GE260ES | GE260ES-2RS| 260 | 370 | 150 | 110 | 285 | 35 | 3050 15300 | 51540

128



ﬁgxxm&%mza
et/ JOTA BEARING CO., LTD.

SB Al B;
~—B
H
‘ r
p ‘
R
D d d,
L /
1| 1
r -
SBH2
EhARISR FE7E(mm) ERFERFTE g
Bearings | pyf | SME | SMRIE| PotRiE B E C | E Co| Weight
Number d D B B, di @ H r kof kof (grf)

SB 12 12 22 9 11 14 18 1.5 0.5 390 9720 19
SB 15 15 26 11 13 17.5 22 2.5 0.5 580 14500 28
SB 20 20 32 14 16 | 23 28 25 0.5 940 23500 53
SB 22 22 37 16 19 | 255 32 2.5 0.5 1230 30700 85
SB 25 25 42 18 21 29 36 4 0.5 1560 38900 116
SB 30 30 50 23 27 | 36 45 4 1 2480 62100 225
SB 35 35 55 26 30 | 40 50 4 1 3120 78000 300
SB 40 40 62 | 28 | 33 |44 55 | 4 1 3700 92400 375
SB 45 45 72 31 36 | 50.5 62 6 1 4610 115000 600
SB 50 50 80 | 36 | 42 |585 72 | 6 1 6220 | 156000 870
SB 55 55 90 40 47 | 64.5 80 6 1 7680 192000 1260
SB 60 60 | 100 | 45 | 53 | 725 9 | 6 1 9720 | 243000| 1700
SB 65 65 105 47 55 | 76 94 6 1 10600 265000 2050
SB 70 70 110 50 58 | 81.5 100 8 1 12000 300000 2220
SB 75 75 120 55 64 | 89.5 110 8 1 14500 363000 3020
SB 80 80 130 60 70 | 97.5 120 8 1 17300 432000 3980
SB 85 85 | 135 | 63 | 74 |1005| 125 | 8 1 18900 | 473000 | 4290
SB 90 90 140 65 76 | 105.5 130 8 1 20300 507000 4710
SB 95 95 | 150 | 70 | 82 | 1135 | 140 | 8 1 23500 | 588000 | 6050
SB 100 100 160 75 88 121.5 150 10 1.5 27000 675000 7420
SB 110 110 | 170 | 80 | 93 | 130 160 | 10 15 | 30700 | 768000| 8550
SB 115 115 180 85 98 132.5 165 10 1.5 33700 842000 [ 10300
SB 120 120 190 90 105 140 175 10 1.5 37800 945000 | 12400
SB 130 130 200 95 110 148.5 185 10 1.5 42200 1050000 [ 13800
SB 150 150 220 105 120 166 205 10 1.5 51700 1290000 | 17000

129



ﬁgxxﬁﬂﬁmﬁa
s/ JOTA BEARING CO., LTD.

05 ¢

PHS =t &l D ~ B
<B>
Y
- S A -
f v o1 ]

SEESE ;‘
C
sz ts"4
a
FEZ~HE(mm) fo 7T B
Bk = wae |REF| B8
BSR4 JISSZ%& D[BeoiBd) o | L | h|Li|L|wl| | D| r| @ | S| o
11.112
PHS5 | 5| M5X08 |16 6 8| 77| 35| 4 27 | 14 9|9 1 | 05 7116) 570 165
12.7
PHS 6 | 6| M6X1 18| 675 | 9| 9 39(5 30| 14| 11|10 13 | 05 ) | 700 25
15.875
PHS 8 | 8| M8X125 |22| 9 121104 | 47| 5 36 | 17| 14 | 125| 16 | 05 58) 1000| 43
19.05
PHS 10{ 10| M10x15 [26| 105 |14 [ 129 | 56 | 65| 43 | 21 | 17 | 15 19 | 05 (3/4) 1350 72
22225
PHS 12|12 | M12x175(30| 12 |16 | 154 | 65|65 | 50 | 24 | 19 | 175 | 22 | 05 78) 1700| 107
254
PHS 14|14 | M14x2 [34| 135 |19 (169 | 74| 8 57 | 27| 2 | 20 25 | 05 ) 2100 | 160
28575
PHS 16|16 | M16x2 [38| 15 |21 | 194 | 83| 8 64 | 33| 22 | 22 27 | 05 (1) 2550 | 210
3175
PHs 18| 18| M18x15 42| 165 |23 [ 219 | 92|10 | 71 | 36 | 27 | 25 31 | 05 (1) | 3000 295
34.925
PHS 20|20 | M20X15 46| 18 |25 | 244 {100 10 | 77 | 40| 30 | 275 | 34 | 05 (13%g) 3500 | 380
38.1
PHS 22|22 | M22x15 |50 20 |28 | 258 |109 | 12 | 84 | 43| 32 | 30 37 | 05 (1) 4200| 490
42862
PHS 25|25 M24x2 [60| 22 |31 |296 |124 | 12 | 94 | 48| 36 | 335 | 42 | 05 (1Mhe) 7400| 750
50.8
PHS 30|30 | M3ox2 [70| 25 |37 | 348 |145| 15 | 110 | 56 | 41 | 40 50 | 05 2 9400 | 1130

130



ﬁgxxm&%mza
et/ JOTA BEARING CO., LTD.

POS 1R# A

f=-B,

¥

e—D

—

T

o

I
-
i

-

L,
|
-5
FE~FiE(mm) BRE R BET | o
ik s o | et (EE
B S
gt | d ssog | D | B Bigq| i L L L2 r ) cs | or
1.112
POS5 | 5| M5x08 | 16 6 8 | 77 41 33 20 05 716) 350 | 125
127
POS6 | 6 | M6xI 18 675 | 9 | 9 45 36 22 05 (iR) 500 | 19
15.875
POS8 | 8| M8x125 | 22 9 12 | 104 53 42 25 05 58) 700 | 32
19.05
POS 10| 10 | M10x15 | 26 | 105 14 | 129 61 48 29 05 (34 1100 | 54
22225
POS 12| 12 | M12x175| 30 | 12 16 | 154 69 54 33 05 718) 1700 | 85
254
Pos14| 14 | M14x2 | 34| 135 19 | 169 77 60 36 05 ") 2100 | 126
28575
POS16| 16 | M16x2 | 38 | 15 21 | 194 85 66 40 05 (1) | 2550 | 185
3175
POS18| 18 | M18x15 | 42 | 165 23 | 219 93 72 44 05 (1 | 3000 | 260
34.925
POS 20| 20 | M20x15 | 46 | 18 25 | 244 | 101 78 47 05 (13) | 3500 | 340
38.1
POS 22| 22 | M22x15 | 50 | 20 28 | 258 | 109 84 51 05 (1) | 4200 | 435
42,862
POS25| 25 | M24x2 |60 | 22 31 | 206 | 124 o 57 05 | (i) | 7400 | 650
50.8
POS30| 30 | M30x2 |70 | 25 37 | 348 | 145 | 110 66 05 ) 9400 (1070

131



ﬁgxxﬂﬂamﬁa
s/ JOTA BEARING CO., LTD.

05 ¢

7, ft— ]
RBH¥ B,
Bay
g
i r 4 T
d +—+—t d
y r Y
|
L
L,
<—S>-
EE~FE(mm) sem | man =
Bk a HEE | AT EE
Ju
BE | d Jlssm DB B di | L || Li|]leWl D2| Ds | r | (m) G | o
11.112
RBH5 | 5|M508 [17 | 6 8| 355 770 4 | 27|16 9| 9 1 | 05 716) 560 | 16
12.7
RBH6 | 6|M6éx1 |19.5(6.75| 9| 39.7| 9 |5 | 30|16 | 11|10 13 | 05 12 690 21
15.875
RBH8 | 8|Msx125 |24 |9 |12 48 [104| 5 [ 36|19 |14 |125| 16 | 05 (58) 980 | 43
19.05
RBH 10| 10 |M10x15 |28 [10.5 | 14 | 57 [12.9| 6.5 43 |23 | 17 | 15 19 | 05 (3/4) 1330 | 68
22.225
RBH 12|12 |M12175(32 [12 | 16| 66 |154| 65| 50 |27 | 19175 | 22 | 05 718y | 1670 100
25.4
RBH14|14 |M142 (36 [135|19| 75 [16.9| 8 | 57 |30 | 22 | 20 25 | 05 ) 2060 | 142
28.575
RBH 16|16 |Mi6x2 [40 [15 | 21| 84 |194| 8 | 64 |36 |22 |22 27 | 05 | (41 | 2510| 185
31.75
RBH 18 | 18 |M18x15 (45 [16.5 | 23 | 93.5|21.9(|10 | 71 |40 | 27 | 25 31 | 05 | (qiy) | 2940 | 265
34.925

RBH 20 | 20 |M20x15 |49 (18 | 25|101.5|24.4(10 | 77|43 |30 | 275 | 34 | 05 (1%) 3430 | 334

A
RBH 22| 22 (M2x15 |54 |20 28 |[111 | 25.8(12 84 | 47 | 32|30 37 0.5 (:?]81/2) 4120 | 454

132



ﬁgxxmﬂﬁmza
et/ JOTA BEARING CO., LTD.

'/,
CFi¥

Lo

L d d

o

[ Tr————
=—DB,
CF
B U mm *5HUUE » RE! KR UURSEY
B FHE | BE | AR
o d D S B | Bi| L di | D2 I I1 r Co © E
BUgR kgf kgf
g g rpm

CF3 3 10 | M 3x0.5 7 |8 17 | - - 5 - 0.3 72 130 | 47000
CF4 4 12 | M4x0.7 8 |9 20 | - - 6 - 0.5 120 190 | 37000
CF5 5 13 | M5x0.8 9 |10 23| 31| - 75 | - 0.5 180 280 | 29000
CF6 6 16 | M 6x1 1 |12 28 | 4 - 9 - 0.5 240 330 | 25000
CF8 8 19 [M8x1.25| 11 |12 32| 4 - 1 | - 0.5 300 390 | 20000
CF10 10 22 |M10x1.25| 12 |13 36 | 4 = 13 | - 1 370 430 | 17000
CF10-1 | 10 26 |M10x1.25| 12 |13 36 | 4 - 13 | - 1 370 430 | 17000

CF12 12 30 [M12x1.5 14 | 15 40 | 6 3 14 6 1.5 620 710 | 14000
CF12-1 12 32 [M12x1.5 14 | 15 40 | 6 3 14 6 1.5 620 710 | 14000
CF16 16 35 [M16x1.5 18 [ 195 52 | 6 3 18 8 1.5 1090 1040 | 10000
CF18 18 40 |M18x1.5 20 [215] 58 | 6 3 20 10 1.5 1690 1410 8500
CF20 20 52 [ M20x1.5 24 [255| 66 | 8 4 22 12 1.5 2350 1940 7000
CF20-1 20 47 | M20x1.5 24 | 265 | 66 | 8 4 22 12 1.5 2350 1940 7000
CF24 24 62 | M24x1.5 29 | 305| 80 | 8 4 25 12 1.5 3050 2600 6500
CF24-1 24 72 [ M24x1.5 29 | 305| 80 | 8 4 25 12 1.5 3050 2600 6500

CF30 30 80 |M30x1.5 | 35 | 37 100 | 8 4 32 15 | 2 5350 3470 5000

CF30-1 30 85 | M30x1.5 35 | 37 100 | 8 4 32 15 2 5350 3470 5000

CF30-2 | 30 90 |[M30x1.5 [ 35 | 37 100 | 8 4 32 15 | 2 5350 3470 5000

133



134

<oT3

@A)

VA KEHAFR T

%2/ JOTA BEARING CO., LTD.
CFHF .
1
— 1
D == d
}
= \s_
r
CFH
Bk EIEE FE<FE(mm)
e =
Bl & 5t &R PR 51 86 . 5 o B
mm R uus R uus
6 CFH®6 CFH 6UU CFHG6R CFH 6UUR 6 16 M 6x1 11
8 CFH 8 CFH 8UU CFH 8R CFH 8UUR 8 19 [ M 8x1.25 11
CFH10 CFH 10UU CFH10R |[CFH10UUR 10 22 | M10x1.25| 12
10
CFH10-1 | CFH10-1UU | CFH10-1R [CFH 10-1UUR 10 26 M10x1.25| 12
CFH 12 CFH 12UU CFH12R |[CFH 12UUR 12 30 [ M12x1.5 14
12
CFH12-1 | CFH12-1UU | CFH 12-1R |CFH 12-1UUR 12 32 M12x1.5 14
16 CFH 16 CFH 16UU CFH16R |CFH 16UUR 16 35 M16x1.5 18
18 CFH 18 CFH 18UU CFH18R |CFH 18UUR 18 40 M18x1.5 20
CFH 20 CFH 20UU CFH20R |CFH 20UUR 20 52 M20x1.5 24
20
CFH20-1 | CFH20-1UU | CFH 20-1R |CFH 20-1UUR| 20 47 | M20x1.5 24
CFH 24 CFH 24UU CFH24R |CFH 24UUR 24 62 | M24x1.5 29
24
CFH24-1 | CFH24-1UU | CFH 24-1R |CFH 24-1UUR| 24 72 | M24x1.5 29
CFH 30 CFH 30UU CFH30R |[CFH 30UUR 30 80 | M30x1.5 35
30 CFH 30-1 | CFH30-1UU | CFH 30-1R [CFH 30-1UUR| 30 85 | M30x1.5 35
CFH30-2 | CFH30-2UU | CFH 30-2R |CFH 30-2UUR| 30 90 | M30x1.5 35




Ay & X El K H R )
et/ JOTA BEARING CO., LTD.

[T
““_‘P‘

(
(]
L

R500 (CFH18LATF) R500 (CFH18L}{T)/

R1000 (CFH20LI E) R1000 (CFH202/ E)
CFH...UU CFH...R CFH...UUR
FE<Fi%(mm) 5= HEATEHEAE

SRR | MREE

B R |, | WOE | grf © co QTE?E rr;an

' L e kgf kgf 9
310

12 28 4 9 | 025 05 18.5 330 240 % 25000
370

12 32 4 11 | 025 | 05 28.5 390 300 120 20000
430

13 36 4 13 | 03 | 1 45 430 370 140 17000
500

13 36 4 13 | 03 | 1 60 430 370 180 17000
640

15 40 6 14 0.4 1.5 95 710 620 210 14000
680

15 40 6 14 | 04 | 15 | 105 710 620 240 14000
1020

19.5 | 52 6 18 | 05 | 15 | 170 1040 1090 270 10000
1320

215 | 58 6 20 | 06 | 15 | 250 1410 1690 320 8500
2110

255 | 66 8 22 | 07 | 15 | 460 1940 2350 700 7000
1910

255 | 66 8 22 | 07 | 15 | 385 1940 2350 510 7000
3120

305 | 80 8 25 | 08 | 15 | 815 2600 3050 900 6500
3620

305 | 80 8 25 | 08 | 1.5 | 1140 2600 3050 110 6500
4800

37 | 100 8 32 | 10 | 2 1870 3470 5350 1280 5000
5100

37 | 100 8 32 | 10 | 2 2030 3470 5350 1300 5000
5400

37 | 100 8 32 | 10 | 2 2220 3470 5350 1490 5000

135



	�¶�±  127
	�¶�±  128
	�¶�±  129
	�¶�±  130
	�¶�±  131
	�¶�±  132
	�¶�±  133
	�¶�±  134
	�¶�±  135

